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What type of cell is shown in the below

photomicrograph?

S
» "'

Prokaryotic cell 31l Al Agda

b Eukaryotic cell 3lgall Aaaaa 4008

Tolis) duygaall Bigual) B jelin A A £l La

Animal cell Ailga 08
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Which would be the result if the electron i) al 13) Saade il AN Al L ool d_uuugo
Al g s ol ) Al o

microscope had not been invented? PP TR AR EMIRATES SCHOOLS
D "fl - ESTABLISHMENT

Al dadal ClEKH WDIA) jea i culS

Images of cells and microorganisms would remain blurry.

AR Giliae calide Ay e 1ei€a elalall S L
b. Scientists would be unable to view different cell organelles.

€ ealiall @) s L

The atoms of elements would not have bken discovered.

Microscope magnification would be limited to 1000x.
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i Na+/K+ ATP PUMP  agudiglly agsigeall Az
b. Facilitated diffusion el L)
Exocytosis sl = HaY)

Endocytosis Aaxlil)
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Which situation would increase the dih degaa A 2Ll ) (sah ) auagll Le #v
fluidity of a phospholipid bilayer? Cdagajall dujsluadl) O gaal) oYl &uso

—w 2ol odeil
EMIRATES SCHOOLS
ESTABLISHMENT

Shall Gilajy (el

. Decrease of the temperature

Slifig pll 2ae 53Lj

.. Increase the number of proteins

4 Increase the number of carbohydrate chains

Bl f BB Gleaddt s sbacset Fu e
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Which of the following describes what will carev 8 . : 2
dalal Caan g b (s 9.\9 Laa @i "leg?_mwgn
TSl (adiia Jalaa B Bagasa duilga WIRATES SCHOOLS

STABLISHMENT

happen to animal cell in a hypotonic solution?

Shrink LeslaS)
T s fo00a
@ Burst W Lo
d. | Wilting s ypaim v . a3

bl o S Olaatdl by slowset fu ye
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Which is the effect of having the polar and Slijal Audadll g Akl Ak O il L

nonpolar ends of phospholipid molecules? ?Z:Q,Jju,ﬂ\ Ceaall
T . uhl_—olld_unugo
Aat a5, o—w)aolileil)
O O EMIRATES SCHOOLS
\\ ﬁ Polar Heads ESTABLISHMENT
%’ WO Muﬁa i o Jasd
&% g'« ég Nonpolar Tails
{ -~
% AR % & Akl sy
% Polar Heads

Aasa5al Agysidll cyganl Aide JAbs 81 el o bl (5S5 G

It makes more room inside the phospholipid bilayer

LA lpeailas e Jaliall 8 3080 50 Laay @IS ey

L. |t helps the cell to maintain its characteristic shape

elizll e dlgall ASHa o 5ilandls SIS mas

@ It controls the movement of substances across the membrane
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Lzl e Jaally lazall Jall cdee (DA (e 31 G5V e LAY Lailas

Cells maintain homeostasis using passive and active transport

‘)_\S‘).J\ JJ&.&AL)ASCL.MLL“ Jﬂ_:.“ &_!.A:._t

Active transport occurs against the concentration gradient

MJ)AMYL 4.:_)\.\.:;‘ 4.1.3\.0.} L.5'3 c.l.u.c Pr= elall )L:Zﬁ.:\ u,_\c d.u:u

The diffusion of water across a selectively permeable membrane is called osmosis

o

Aalall Cilisgyall yie Aal Jals W dadall bl Jad
arge molecules are transported into the cell by carrier proteins
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Which forms the cell’s supporting o _ _ L.,Uu;,;w@n
P deo ) A8 G L laa ol | s

ESTABLISHMENT

network?

Cyloskeleton  (glal) (Sl

b Cell wall igall s

Endoplasmic reticulum aglalall el A<l

CoBadl fo 918 Oleaddt iy stocul furre
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VVIIGH OF Ne 1onowing Is e runcuon g‘q aad) aosal) Jals g l) daudag elat g'\:f Laa [.si

. - ol & uugo
of the structure in the red square in eolial o) S malpelet)

R $aks a A oo EMIRATES SCHOOLS
the below figure? RS ban ESTABLISHMENT

Smooth endoplasmic reticulum
elaale 503 A B A

Information storage Gilaglaall 43335
Storage of waste products SOl (53385

b.

Digestion of excess food particles  ¢laall Glass aian

C.




Which organelle is present in a paramecium protozoan gl (4 sag A sz L

but absent in the cells of a strawberry plant? adg il s o g Y

. Cytoskeleton sl (gl
. Microtubules 2l cluad)
. Nucleus Bl gl

CoBadl fo 918 Oleaddt iy stocul furre
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o lr 2

If a microscope has a series of three lenses that  Cluss &MU (e dludu jgaal 1S 13
magnify individually 4%, 5%, and 6%, what is the  (§5x 4x o qmm,. WSS B8 A
total magnification of the microscope? gl juS B Jlaa) Ll 6

Learning Outcomes Covered &

o 1.1.6

Mark(s): 5/5

CoBadl fo 918 Oleaddt iy stocul furre
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/ *»
Q17:. Mark(s): 5/5 .

oMl d_uuwgo
—w o)l pdeil)
During their mission to planet Mars, dy) iy ) S8 ) aglny D& EMIRATES SCHOOLS

ESTABLISHMENT
astronauts have found material that might gl .4 (9S8 o Jadaall e Bibe eliad
be a cell. Which of the following must the ia Balal sl (b Lghadl ¢f iy b s
material have to be considered a cell? Sailly Add

Learning Outcomes Covered

o 117

. || The material must have a nucleus CRY TR0 I

b, | The material must have chioroplasts ol st il 6 oo

¢ | The material must have mitochondia LpsigSia i3kall 36 o i
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ol d_unugo
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Which is not a factor that affects the e
) Ay A sl 8 ) o

rate of diffusion?

p, | Concentration ;S

o [ Pressue s

o | Temperature )2 ®
@ BIOLOGY
- TERCHER

AMABNI KITTANEH
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Which of the following organelle is matched i gl 1139 b (Jilsiy A0 Ghgcmd (0 gf
with its correct role in the cell? e2ua)

Learning Outcomes Covered

o 119

iy ) i e Loyt

Mitochondria: the site of prolein synthesis

b. . Nucleus: provides support fo the cell

AAD Ll LY S5 il a6
Endoplasmic reticulum: forms a framework for the cell within the cyloplasm

lly Al D gl A8 i D LS
Hmumm:mmﬂnmmdmhhmmdw *q
| R —— -- e —— A -----------------------

CoBadl fo 918 Oleaddt iy stocul furre

.
ol d_unugo
—w 2ol podeil)

EMIRATES SCHOOLS
ESTABLISHMENT




— 2 AR AT ety Bacimfograay ANt A s Yt S 13 A B et 203 eV — A e il et AR pede et A I S S S N e T a e L s

=
8

O - hnirin b)) o A

Gl oll6_unugo
—w o)l pdeil)
EMIRATES SCHOOLS
ESTABLISHMENT

- - . v
]O‘O | | | | | | . o b - 2
-
)
\
\

)
-]

)
3

Percent of tracheids

o
-
<

Learning Outcomes Covered

°o 1112

Solgseadl) b 53U I Bl Sileys alisd g
Colder temperature increase the diameter of the tracheids

Sl S0 Slealdll b e ladl das S8 Y
The temperature does not significantly affect the diameter of the tracheids

Aaiiie She iled o ilueadll LS il JBZ
The highest tracheid diameter is reached at low temperature

Colpseaill el 5345 D Bhall Siayd g1 g3
Warmer temperature increase the diameter of the tracheids

@ | Cobiudd fo g1 Oloadd! by stocsl fuyoe
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uhl—olld_uuvugo

—w o)l pdeil)
Which of the following is a characteristic ; EASAIT%ELSI ssmcz%ti
Talall LA dgands ulCl) LA laa
of sclerenchyma plant cells? “'s el X's ‘5‘
Learning Outcomes Covered
°o 1.1.12

) s shas Ly JS8 gl
| Are spherical in shape with thin cell walls.

o2 ayleindy JE2U Ayl
Have an elongated shape and can be stretched.

. peal Ladie 4pall LS ) oSS
Lack living components when they mature.

...................... SRS, Y

oCilguanll e SV g gully Jadiag
4. - Maintain the greatest variety of organelles.

C.
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Which type of transport requires energy . i
AR cala e A8l VA il (630 JA g La

input from the cell?

Learning Outcomes Covered

o 1.1.10

|| Faciltated diffusion ua) sy

b.

Sl o o1 Olomddt iy sbaud fuyoe
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What plant condition do the photos below show? bl jguall gl il Sla e Alla (g Lol b
ol & uuugo
—w o)l pdeil)
EMIRATES SCHOOLS
ESTABLISHMENT

Learning Outcomes Covered N - W & _48
o 1.1.15
a. | Dwarfism S
p, | Leafdrop 3l Lils
c. . Nastic movements  aSall olisadl
T ——
d.! Apical dominance  aZal sl

CoBadl fo 918 Oleaddt iy stocul furre




Which leaf structure is the site where the most abina 48 Saad 43 5) SIS Oa (;‘ .

photosynthesis takes place in the figure below? Solial JSAN P Hgall oLl Al oll__ollé_unugo
—w o)l pdeil)

EMIRATES SCHOOLS

3 ESTABLISHMENT

2

Learning Outcomes Covered

o 1.1.14

e, § B 8 13 R e 0202020292 4 HMESOTENETE EER 3 L F . R ERrans
a.

b e e - - - - . - e = - - TR = o i o e - e T - - - - -
i e S — e
 — e R o Y
TR,y N—

bl o S Olaatdt by slowuet fusye




Which of the following orientations of phospholipids Qi Jadl JSiy Jiay 000 Clyiad (6 .

best represents the phospholipid bilayer of the Sl oLl dagaall &) ghasdl) O gl TS
EMIRATES SCHOOLS
plasma membrane? ESTABLISHMENT

$ ¢

0 ‘
A

Learning Outcomes Covered A S R o

o 1.1.8
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whl—olld uuvgo

—w o)l pdeil)
& EMIRATES SCHOOLS
What are the functions of xylem and phloem? !ohﬂbwdﬂ,wh ESTABLISHMENT
Learning Outcomes Covered
o 1.1.14

LI ppslaall oladll Ja Ly Sy ol Galall Jan

Xylem transports water and sugars, phloem transports mineral ions

) glall) i Lty Sl 305 oladd) (il iy
b. Xylem transports mineral ions and sugars, phloem transports water

LI coladlly ol oladll Jau Loy S alad
Xylem transports sugars, phloem transports water and mineral ions

Xylem transports water and mineral ions, phloem transports sugars
e e e i e e e e e e i s e S AT .. .. . o e AT e i e s e e

d.
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dis p die.ob ) 2021 — 2020 JsY) o)Al Jeadl) dlgs Lad) Kb

Use the diagram below to answer the question: el O LL;)U P Lk | JOPR PRSI - - &
g 4 . " e . = 1w j10)l leil)
Which is the site of protein and lipid synthesis? Oy Ouhg pall el éy & La E"MmATJEs SCHOOLS

ESTABLISHMENT

Nuclear pore
Chromatin
Nucleolus

Endoplasmic
reticulum

Ribosome

Chromatin Orola g S &

Endoplasmic reticulum 21000 40000 45,50 5
Nucleolus a5 gall -3

Nuclear pore g5l ol a

CoBadl fo 918 Oleaddt iy stocul furre
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A

If a microscope has a series of three lenses that Sluws EN cpa dluda jgaal 1S 1) il
—w 2ol pdeil
EMIRATES SCHOOLS

magnify individually 5x, 5x, and 7x, what is the Tx (5% (5% h Al s 58 A ESTABLISHMENT
total magnification of the microscope? Cogaall i B8 laa) L

175%
17x
35%
25%
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)

In which structure would you expect to

find a cell wall?

CAAL jlia aalgs of adsE sl (e g

R ad e dda
Blood cell from a cat

1
Human skin cell 5

DA e dds

Liver cell from a mouse
gl B (pe A8

Cell irom an oak tree

CoBadl fo 918 Oleaddt iy stocul furre

uhl_—olld_unugo
—w 2ol pdeil
EMIRATES SCHOOLS
ESTABLISHMENT




*»

-

Which is the vascular tissue that ) ) i‘;gﬂf—mwg"
slal) Jaiy gJ gﬂf’ﬁ] Tl 58 ﬁ Laa Lﬁi EMIRATES SCHOOLS

transports water and dissolved ESTABLISHMENT

| 2ahs¥) L Jsiall o dullall ataall
minerals from roots to leaves?

Epidermis 5 )
Parenchyma d.audipll 4040

Phloem Jalll 5
Xylem kAl

A

-

CoBadl fo 918 Oleaddt iy stocul furre
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Which image shows a trichome? Tobandd) lgad jglas AJEYN [ aal) Cia ‘55
*»

uljl_—olld_unwgo
—w 2ol odeil
EMIRATES SCHOOLS
ESTABLISHMENT

Nw>»0
NWN =

Which of the following is mainly (U0 ddeae oo calad <80 J95wa (o Laa (6

responsible of photosynthesis process in foulall B Seal)
plants?
central vacuole A58 a0l 5gaal) ]
- .l h
chlorophyll ) _}:135)3.\5.5 5
stone cells oaadl LA
plasma membrane el clall %

CoBadl fo 918 Oleaddt iy stocul furre
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The plant grows toward the light. ..l oLl 3 olall sy

The plant grows toward gravity. —.2,050 ola¥ 3 =lal) oty )

The plant grows away from the light . ceall e Vi il gty 3
The plant grows away from gravity. .4udlall Slea sladl &Ll gat 4

CoBadl fo 918 Oleaddt iy stocul furre
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Some cells use elaborate pumping systems,
such as the Na’ /K" ATPase pump shown
below. Which of the following shows how
this pump works to maintain the level of
sodium ions (Na’) and potassium ions (K‘)

inside and outside the cell?

dias Jie AEle e Al aadion LSAS e G
-olial diluall (Na' /K™ ATPase) asswlislls asigall
e Al Aiaadl o3a Jae dudaS gl b Laae G
(K") psalioadl cilisils (Na") asssgall ciligyd (s5iua

CANNAT A Jala

Outside of cell

Leals L) (K s elsas lae 2020 (050 1) (Na) s 208 Jis

Transports 3 (Na”) into the cell and moves 2 (K") out of the cell

Lelals ) (K7) oilgdd 3806 elsas lie 3080 2 5ls ) (Na7) el Jis

Transports 2(Na™) out of the cell and moves 3 (K") into the cell

Leawls ) (KY) Solisd D15 ebjas Jilie 2050 sl ) (Na) Ssf Jis
Transports 2 (Na™) into the cell and moves 3 (K") out of the cell 3
Ledshy .1 (K7) Gaf elpas (lie 2020 -1 U (Na”) sl &8 Jas

Transports 3 (Na™) out of the cell and moves 2 (K") into the cell

CoBadl fo 918 Oleaddt iy stocul furre
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Which is not a factor that affects the rate ¢ LAY Aoy B Jisall 8 Jaladl L

Which is not part of the cell theory? faglad) Al a 1a el i Laa 6] :
. Ny of diffusion?
las 3L . e Pressure  lLal
plity dblas Sluae e LOAD (59as :
. Temperature 3l sl
Cells contain membrane-bound organelles 1 2
WIS (e dual) ol sen 360 Concentration 35l K
. . Conductivit Juagnll
All living organisms are composed of cells 4 T

el Baga5e LA o DA g

Cells come from pl’EEKIEtII‘Ig cells 3 ‘Which plant structure is not part of a root? il G teia el Aull) AGlal (sl G ‘;i
slall L) sas gl o4 43l

The basic unit of life is the cell | Root cap Dl Bguils "
Pericycle Ll Bl
Stomata Y i
Endodermis sl sa

CoBadl fo 918 Oleaddt iy stocul furre
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Which of the following represents the structures 45,41 (2) 5 (1) cushah jglil ol Laa &l
(1) and (2) shown in the below figure? foliaf Jean b

Outside the cell sy z1s
(1)

@) - (1)

- T eve
PPl aa"

P a¥ al A"

. -~

v d
"." -

' ~
,‘0. -

Which of the following orientations of Ak Jadl (GG s a@,ﬁ!g‘ (R LU R\ LA '\\\\ \!
. )\
phospholipids best represents the phospholipld ¢,k kil dagujad &gild a1 \\\ (R Lk \\ \\ ' \\ \\ \\3\ \} Q! A
bilayer of the plasma membrane? Polar heads
Cholesterol
O o N
8 8 | 888 dudad 9959 lipelid Aelis
0 660 Vitamin chain and membrane protein
A8 e St (159739 glad s
Nonpolar Tails and membrane protein P
A 1 JBU (59509 olual
B 7 Cilia and Transport protein 3
C .3 E;L;Lugjﬁgig\)@y)sw
D 4 Carbohvdrate chain and membrane nrotein

Bl fo 1Y Gleaddt iy stocul furre
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Which of the following indicates the process  fslial JSi0) 3 5aUaY dulead ) jod b Lea G

Which organelle is called the “powerhouse Ly dlaag a3l = Al L
of the cell"? eaall o FEIA]

shown in the figure below?

Channel
protein

Ribosome asuslll

Nucleus gl )

Mitochondria L )xs" il :
Vesicle dapll

Active transport L.l Jaull P
Exocytosis  (gglall #,AY) .
Facilitated diffusion ...l Laay)
Diffusion  Lawy)

w

CoBadl fo 918 Oleaddt iy stocul furre
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Which of the following fill the space Tl LA Gy 3 9agall £ 1400 Moy o Las ‘5‘

between spongy mesophyll cells? ?gé.ﬁ...@\ o glall
cells s
vascular tissue ile gl |
el )
chlorophyll Jad g, <])
3
gases ,;;DU:_!\ p
Which image shows an eudicot stem? *aga A O Bl ek NG sl a4

ON>rw
B i o
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Which of the following comparisons of ALl LAy dudlgaall LAY o AN Cljlaall cpa qi
animal and plant cells is NOT true? fhasaa Cul

Adlpal) LAY 3 200 Yy Anlall LAY 3 ehuad claadly 20
Chloroplasts are found in plant cells but not in animal cells

Slsad (goas L 1)alid Adlgaal) LAY Ll 63,0 Sgad (ggas Aslall LAY

Plant cells have a large vacuole while animal cells rarely have few vacuoles

Aalgaad) WIAN 3 2as YV ALl LAY 3 (Ghelle s sag:
Cellulose cell wall is found in plant cells but not in animal cells

Al LAY 3 aag Vg ddlpall LOAD) 3 L)yxisSaiae 2o
Mitochondria are found in animal cells but not in plant cells

el ol é_uugo
—w o)l pdeil)
EMIRATES SCHOOLS
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What microscopy tool would be most useful S Adaadla B Audled IS O eSiu Ay sgaa BT (6
in observing the structure of a virus? Tomma (yug b

dbwiyell dreddsil Sloymall

11
1.2
1.3
.1.4
.1.5
.1.6
.1.9

B P T QS T e |
O 00 0 0 0 O

Gl oll6_unugo
—w 2ol podeil)
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Which of the following images shows stomata? ¢ gl lgad jekas Al gall (o 6‘ ; _S:Lv
‘,J_an.oJIrn_uL?fl
EMIRATES SCHOOLS
ESTABLISHMENT
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Which of the following represents the Ao shudll Ogaal) dduds Jias AJGN Caguall G (8
phospholipid bilayer of the plasma membrane? Tadlall cliall da gaiall

3

AN N AL




s do these photos show™? €8, 0 =lls zragall =1la5iV) &95 La

Gl oll6_unugo
—w o)l pdeil)
EMIRATES SCHOOLS
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............................. sy
Phototropism g elazsl i

= 1.a
- ——— - —— -:

Gravitropism positive (anga iyl elamil |

Gravitropism negative s ain )l elamsl .

Thigmotropism

DTSR P ) ) PE N FGE CRA D) | SH T




TAAY LB maaal) 0)50 2 (38155 A Cluaal) G (gl T T
—wj2oJlpdeil)
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Which of the following organelle is matched
with its correct role in the cell?

s ) pieat e b 1lieCsind
Mitochondria: are the site of protein synthesis

Al el jig gl
Nucleus: provides support to the cell =

REUNEREE IR R
Ribosomes: makes energy available to the rest of the cell*
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Which of the following macromolecules stores  clagieal) ¢yujads a gl &) dadall cliiall ca (g ’

and transmits genetic information? Plglii Allygl | cu ety

2 Carbohydrate WA PPN
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The figure below shows an animal cell after o lgndag a5 o) s Adlgaa AWA oLl 3y geall glil

being placed in a specific solution. Based on 1 lean A Laa Qgi By geall ) Taliiad . opma Jolaa ,
= ) Y || W,
the figure, which of the following describes this € J slaall TS S 1]
: EMIRATES SCHOOLS
solution? ESTABLISHMENT
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Hypotonic Solution j:S Al (aeiia Jelaa
.a

Isotonic Solution S50 (sluda Jolaa
.b

Osmotic Pressure Shsany) Jarizll

Hypertonic Solution RSA e Jslas
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Which of the following is a characteristic of sl ‘_,s dsasdalelll LMAL §jua g2 o Laa ‘1;1 | .

collenchyma plant cells? w0l el
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Aad) Ll Ghas Lelg JSEI Aol
Spherical in shape with thin cell walls

) aakiody JAN dlgh

Elongated shape and can be stretched

.U'

i Lexic dall GliSall ) s
Lack living components when they mature

Clacanll (e 83 g smlly Lains

Maintain the greatest variety of organelles
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Based on the diagram below, which leaf structure

S a6 colial daddadsll acul) A falinu)
refers to the spongy mesophyll? i) agial) aadd) LA ) ada 43, gl)

‘.
wll—olld_uuvugo
—w o)l pdeil)
EMIRATES SCHOOLS
ESTABLISHMENT




Which type of transport uses transport proteins .., ¥y ALY @l o st g3 Ja g4 L

and does not require external energy?

fdua i 43k

L-- --‘
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Osmosis L)gansy)
«C

Simple diffusion Jaaaadl L) d
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The graph below describes the relationship A GsSeindl Cra AsaS s ASDAS LIS L Slaadh s 500 e

between the amount of glucose entering a cell Salat) sla L) GeSelwmt) (laSy Fus ng La Auis s a7

andd the rate at which thhe glucose enters the Latie 4S) Sleatl aewsdl s@lald o Elaladl ilhaS g sall 5ol . ,

cell with the help of carrier proteins. The graph et e S GLAST N Es e MA5T « feSelmil Saa< 3la3S aljl__ollé_uuvgo
lime shows that as thhe amount of glucose L T, =5 E"_"'UJWIM
increases.,. the diffusion rate increases antil = SeSelatl LAESSE Zwsee LSS pmaa 5 I sa s e LF‘ EMIRATES SCHOOLS
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maximuann rate is reached. TATLax Balsd ma
Wihich of thhe Ffollowing is th-s correct reason for
the stability of diffusion rate wihemn higher

amounits of glucose are reached™?
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g Because there is no more carrier proteins to transport the glucose | a
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LD APl Al z sl o 50l e maean A0 Y
Because the cell is unable to produce more energy required for diffusion

SeSslall e anball aud W AMAD Y

Because the cell cannot handle more glucose

IS juas Alalall culisg ol oY
Because the carrier proteins change their shapes
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Which of the following options shows the correct directions olad¥l jgdas Auilal i laiaN) (sa gi .

of movement of materials in the xylem and phloem? T elallly ulal) ‘_,3 dgall Jail maaall :'J_lzg'ﬁm@"
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Jazd SY_Q_)A calll — ‘Y_,_).:J T.)_’a.o.a rasall
Xylem: Up and down - Phloem: Down only

:YJ_}:\J ‘h_,a..a cadll — Laad ‘\1_,)4 rakall
Xylem: Down only — Phloem: Up and down |

Xylem: Up only - Phloem: Up and down

Jazd i.)_,u.a dalll - ‘Y"_).l_’ 1.\_,“ tadall

Xylem: Up and down - Phloem: Up only
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